PAY LIMIT = 111'-6"
5 (TYP)— *_wiom.. 19" 3 o1 rmw: 3 19 *_Q.AOW:
~—5 A 4r—]|— -3 —-3 — |—an 5 |
__ 1 11 I 1 1 T 1] 1 i i 1 1 i 1 i i _ N
<1 N piN <1 N i Sl Sl 4 N Sl <1 i 1L
P = — —
NORTH _|w 7 EAST WALL FACING EAST . R _Alw.ulv SOUTH
ABBUTMENT 14 SPACES @ 6-7" = 92'-2 ABBUTMENT
PAY LIMIT = 111-75"
55" (TYP)— 19114 19" 3 21-gl" 5 19: 19"114"
=" " 4 —] |— S 1. T - . 4
s 8 8 —
1 11 11 1 11 11 11 11 11 11 11 11 1 11 1 11 _ ~
O ¢ 1L 10 1L 1L 1L 1L 1T BN 1 10 1 10 10 g
SOUTH — g WEST WALL FACING WEST -3 mwﬂ_ NORTH
ABBUTMENT 14 SPACES @ 6'-7" = 92-2" ABBUTMENT
Vermont Agency of Transportation BILL OF MATERIAL
mmﬁ wm _<mD ITEM #| aTY PART # DESCRIPTION ASTM DESIGNATION
1 34 |0033.90017 |TwWDO RAIL POST & BASEPLATE ASSEMBLY A572 Gr. 50
ON: 2 2 |0033.91070 |4° X 3" X 1/4” RAIL @ 19°-10 9/16' W/ END PLATES (EAST RAIL) |A500 Gr. B
_/\_m_..O_x_ H_.”_.. NOH_.N_. 3 2 |0033.91071 |4° X 3" X 1/4° RAIL @ 19°-11 1/2" W/ END PLATES (WEST RAIL) |A500 Gr. B
#5/8 x 13" THREADED ROD, 4 4 |0033.91072 |4° X 3" X 1/4" RAIL @ 19'—0” A500 Gr. B
o S ey D \ASHER and Checked for 5 2 |0033.91073 [4° X 3" X 1/4” RAIL @ 21'-8 1/8’ A500 Gr. B
5 LOCK. WASHER ’ A wOZ —Hom_/\_>z Om 6 2 |0033.91074 |2’ X 2" X 1/8” RAIL @ 19'-10 9/16" W/ END PLATES (EAST RAIL) |A500 Gr. B
7 2 |0033.91075 |2° X 2" X 1/8° RAIL @ 19°-11 1/2" W/ END PLATES (WEST RAIL) |A500 Gr. B
. . 8 4 |0033.91076 |2° X 2" X 1/8° RAIL @ 19'—0” A500 Gr. B
_ BY: Jennifer Fitch DATE: 03/19/2014 5 2 |0033.91077 |2* X 2” X 1/8° RAIL @ 21'-8 1/8" AS00 Gr. B
' - - f r.
10 4 |0033.90069 |1-1/2° X 1-1/2" FIX. SPL BAR @ 2’ 4* A572 Gr. 50
ANCHOR PLATES ol Typ. —85"— 11 4 |0033.90328 [1-1/2" X 1-1/2" EXP. SPL BAR @ 2’ 47 A572 Gr. 50
N \ 16 ; 12 4 |0033.90071 |2-1/4" X 3-1/4” FIX. SPL. BAR @ 2’ 4’ A572 Gr. 50
. 2 — & & , 86" 13 4 |0033.90072 |2-1/4" X 3-1/4" EXP. SPL. BAR @ 2’ 4~ A572 Gr. 50
10 a ! w mﬂ..|_ 14 68 |0033,00295 |3/8" X 2 1/4’ X 7 3/8° ANCHOR PLATES A36
g kg 5 i ] 15 136 |0042.05813 |# 5/8° X 13° ANCHOR STUDS 7449
6 , : _IA_u _ 16 272 |0080.15901 |# 5/8° HEAVY HEX NUTS A563
ANCHORAGE. DETALL g = o] o// i3, 17 136 |0080.15911 |# 5/8° FLAT WASHERS F436
s g B33 (4%) 18 136 |0080.15920 |# 5/8° LOCK WASHERS ASME D182
— = RS &1 2} 107 19 34 |0080.05560 |# 5/8" X 7 1/2° ROUND HEAD BOLT, NUT, F.W., & L.W. A325, AS63, F436, & ASME DI82
rERTE. A IRAGE DETALL VN CTHREADED R PR _ _ o o 20 34 |0080.05585 |# 3/4’ X 8 1/2’ ROUND HEAD BOLT, NUT, F.W., & L.W. A325, AS563, F436, & ASME DI82
PREVIDUSLY APPROVED JOB [JAMAICA ER BRF 015-1 @3)1 HW.I|_ \ 2 /3¢ 21 32 0080.05275 |9 S/8" X 3”7 HEX BOLT, NUT, F.W., & LW, A325, AS63, F436, & ASME Di8.2
5§’ Rz Typ. 22 32 |0080.07330 |# 7/8" X 5 1/2° HEX BOLT, NUT, F.W. & L.W. A325, AS563, F436, & ASME DI82
. 23 34 |0033.90068 |1/8” ELASTOMERIC PAD D2240
78 §” Fabreeka Pad
|m|=|
2 NOTES:
gL 1. ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525.
118 mw.|_|_ o . 2. PRIOR TO GALVANIZING THE ASSEMBLED POST, GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/167.
—55"—] _ T 3. ALL POSTS SHALL BE SET NORMAL TO GRADE.
z I L 4, SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TwO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS.
1.3 E 33 WPS 3012 [ 5. HOLES IN RAILS FOR TUBE ATTACHMENT, MAY BE FIELD-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC—RICH
276" T 1 _ Bl i PAINT PRIOR TO INSTALLATION.
— N 13, — _— 6. BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LBD.
_ 13, 2" A _YO78" (4x) 1= - 1| ! 7. RAIL TUBES SHALL BE ATTACHED USING 3/4” FULL DIAMETER BODY ASTM A449 (TYPE D) ROUND HEAD BOLTS INSERTED
m T © & 3= THROUGH THE FACE OF THE TUBE.
. m@ N, Welded to 4'x3* Tuke ) 8. SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR
10" 716 rF _ e _ THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
8" | S PRET _ INSTALLED ON THE DRIVER'S LEFT. PAYMENT FOR DELINEATORS SHALL BE INCIDENTAL TO OTHER ITEMS.
| >[L..$ 15" (2x) pm.._l 3, 2 m 9, AESTHETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED IN THE CONTRACT PLANS. IF NONE IS SPECIFIED IT SHALL
¢ I3 — WPS 3012 s NOT BE USED. AESTHETIC TREATMENT DETAILED ON THIS SHEET MAY ALSO BE APPLIED ON THE FASCIA SIDE OF THE RAIL,
\ L 53 OI m 7 e —_— IF SPECIFIED IN THE CONTRACT PLANS.
WSS 4xanxs/16 CENTERED an 3T _ 10. BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION 501
ON BASEPLATE il qu END OF RAIL DETAIL 11. THIS RAILING MEETS THE REQUIREMENTS FOR A NCHRP REPORT 350 TL—4 SERVICE LEVEL.
5/16'x3-5/8'x3-5/8" CAP 3. e 3 12. HOLES FOR MOUNTING DELINEATORS TO BE FIELD DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH PAINT
O 11, Welded to 2x2* Tuke
ves s / 3, 4 Oqg" FRONT PRIOR TO INSTALLATION.
Lol A v — 13. ALL STEEL COMPONENTS SHALL BE POWDER COATED BLACK AFTER GALVANIZING, COLOR SHALL CONFORM TO FEDERAL
[4 1 WALL ONLY SHOP DRAWING REVIEW

._.|AVB= HSS 2’x2"x1/8"-

16

HSS &.xw.xu\&.l\._‘|\_

SLOT THRU

@:

23 x 1 7/8"_
SLOT THRU

¢
— e
07/8" x 2]

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ REJECTED Xxmsmm AND RESUBMIT [ FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

Job Number: _ 57438

Sumisusus VHB |

By: __KZS
3/18/2014

Date:

STANDARD NO. 595, COLOR CHIP NO. 27038

ITEM #: 900.640

FR Lafayette - MIDDLEBURY, (2014)

| SHEET 1 0F 2

APPROVED BY:

BRIDGE RAIL DETAILS SHEET

EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

R|NO. [ DATE DESCRIPTION BY[ R [NO.| DATE DESCRIPTION BY]
v
Bl Checkes oo
y APPROVED | . .
h.liw.i &35@&%1@@.83 \ %nnw@&%‘“«%nbg UW%%_,_LM zc.wm__“__,m_ﬂ_w._o.__wmmcf



ksmith
rail

jfitch
CheckForConformanceFields


$15/16” THRU TUBE & SPLICE BAR,
@7/8"XS 1/2” HEX BOLT & NUT,
W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER (4 PLACES)

R sl nbp~faniands - pdmnin I
| " 9. HSS axaxisart _H.-
46 3. 15
8
[ | [ | [ | [ |
— = |_”|”|” = — — ¢MH|”|”| |”|”|HM|”|”|H‘MI ”|”|”_| - T
s )
B PR . A
" In In " _ ”_.\N_.\\Xm_.mo
5 4 4 4 4 5
A -IN: A -IN:
11/16" THRU TUBE & SPLICE BAR,

$3/8"X3" HEX BOLT & NUT,

W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER (4 PLACES)

_ 5" _ AN.. 45" _ 5" _ 1/4"x495°
.— -IM: A -IN:
Vermont Agency of Transportation
RECEIVED
ON:

March 11, 2014
and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 03/19/2014

TOP RAIL FIXED SPLICE DETAIL

$15/16"
BAR., 87/8"X5 1/2°
HARDENED WASHER &

THRU TUBE & @15/16”
HEX BOLT & NUT, W/ (1> PLAIN

X 37 SLOT THRU SPLICE

(1> LOCK WASHER (4 PLACES)

TOP RAIL EXPANSION
SPLICE DETAIL

INN

LI 11

A
_ T = = == = — —/— o  — — — — oy — — —§ _ »—':
N e = oy B = - P 2
Jl — |_H|”|”|u|”|”|”|”u|” ”|”|”|”|”|”|”|H_| — L
m: Nm:-_
] 4 015/16" X 3" SLOT (4X)
2" )
4 - & -c- - -
[ ]
7 ( ] . " HSS 4x3x1/4* IA.:I
4" wN \. om oM oIm oIm
| — |_H|”|n_”|me|n_”| i i |”_n| |n_”|.uH.u|n_”|”_n|umm ”_n|”|H_| - 7
ﬁ_____ _____ﬁh_.
TYP. I S oy L e o T I g |
il i i
| w__|__ 43w v | pgn_ | 1/4"x45° TYP,
' .-nlv ' A.L. L.L. m
-—.IN: -—.IN:
g11/16” THRU TUBE & @11/16” X 3* SLOT THRU

TYP,

SPLICE BAR. ©#3/8“X3”

HEX BOLT & NUT,wW/ (1> PLAIN
HARDENED WASHER & (1> LOCK WASHER (4 PLACES

BOTTOM RAIL EXPANSION

SPLICE DETAIL

HSS 2x2x1/8”

SHOP DRAWING REVIEW

[J REJECTED

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

x_ﬂmEMM AND RESUBMIT [J FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF Ti RAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW

-TION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

VHB

Job Number: _ 57438
Reviewed By: __ KZS
Date: ___3/18/2014

ITEM #: 900.640

1/4"%x43°

FR Lafayette - MIDDLEBURY, (2014)

A:

TYP,

w|:

| SHEET 2 0F 2

T

h.lﬁa.& &35@&%13 com \ wﬁwnw@&%ﬂ«mn com

15

APPROVED BY: BRIDGE RAIL DETAILS SHEET
EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13

R[NO. | DATE| DESCRIPTION DATE| DESCRIPTION |BY|
E
v

ARG DRAWN | EP. [ 37/14
ELDERLEE,INC. @ CHECKED | D.L. 3/10/14

&Y O04KS CORNERS, NEW YORK 14518 APPROVED | . .

SCALE | SCHEMATIC

DRAWING NO.FRL - MIDDLEBURY



ksmith
rail

jfitch
CheckForConformanceFields


34' PAY LIMIT

HSS 6"x6"x3/16" Kickback
@ 8-10" w/End Cap

| I

I I I I I I —

o

POST 14 POST 13 POST 12 7 7_u_“_w._. 1 POST 10 POST 9 POST 8 POST 7 POST 6 POST S POST 4 POST 3 POST 2 POST 1

HSS 6"x6"x3/16" Rail

@17t AT T T T T 2"
K% iKY &Y _
1-109" _m 1113 _m 1142 _.m* 153 A_JmA A_.o._w ﬁmm
| |
BikY B By 1
e 44 L fodl
o i AERSENE X SR N E A AN #ls
“Il_ " ' ' A i

oigd T BEEA RS el
4 SPACES @ 2-0" = 8 2
W6x9 POST @ 7- 0" W/ SPADE
3x5.7 POST @ 7- 0" W/ SPAD @ 2-0" SPACING (3X) = 6-0"

_ S3X5.7 POST @ 63" W/ SPADE 5
@ 3-0" SPACING = 150"

i
_':'_J
R

I T BN . B R

:>=l:>: W \ “ @ © @ © “ y
—-—1/2"

NEW SEE ADDITIONAL SHEETS FOR DETAILED VIEWS

GUARD RAIL TO BRIDGE RAIL TRANSITION

WW1 & WW4 (18
I I I I I I X I _w _“_p‘ _ml_”_ '/m +u|

I I
..m_.u_.w: \ —|
Vermont Agency of Transportation SHOP DRAWING REVIEW
RECEIVED o o s o oy cowrnon cornue soemns o oo v ow 0 | | |rEM 42 900620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) [SHEET 107 8

REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

. Dxmmﬂmo Xxmsm;zommmcwz_: D“cxz_m:ﬁnoxxmﬂmo >_U_U_nﬂo<mow< QQ\N\CQ\;&NQQ N|%Q\~.\N mo% m&gs Q:Q\\.&Q‘.Q\; KA Q‘.DQ\Q}\ MQG&@O\;
O Z . —<_ m.—\o j H H u N O Hh CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR EM13-252, MIDDLEBURY RS 0174 (8 ﬁﬁ

FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR OO_._._mO._.O_nwv~ BRIDGE NO : 13
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
m_)_Q O—J@O—Ama ._noq. INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND R|NO. DATE DESCRIPTION BY| R [NO.[ DATE DESCRIPTION BY]
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF E E
h V h V CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
O Z m O m z > Z m SAFE AND SATISFACTORY MANNER. v v

DRAWN E.P. 3714
<
28RN | CHECKED | D | siona

W O0AKS CORNERS, NEW YORK 145718 APPROVED [ M.v.
M.IRE.N‘ dlong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315—-789—6870 Fax:315—-789—6615 DRAWING NO.FR L - MIDDLEBURY 2014

Job Number: _ 57438

BY: Jennifer Fitth DATE: 03/19/2014 VHB [fwewser s

___3/18/2014

ELDERLEE,INC.



ksmith
rail

jfitch
CheckForConformanceFields


BILL OF MATERIALS, WW 1 I o ——
TTEM #) QTY. [ COMPONENT DESCRIPTION MATERIAL (ASTM) 23" CITEM # 7 e
1 | 3 | 001357021 [3* I-POST, PUNCH 8° W/SPD @ 63° LG ASTM A572 Gr. 50 ol z 1ol |76 xasior
2 | 3 [0013.57085 [3’ I-POST, PUNCH &7, & 207 W/SPD @ 63° LG ASTM A572 Gr. 50 M %2 A
3 | 2 [ 001357060 [3* T-END POST W/SPD @ 38" LG ASTM A572 Gr. 50 " 45" R
T [ & WEX9 POST @ 7' W/SPD & 5/8° HOLES @ VARIOUS ASTM A572 Gr. 50 e e e
5 | 37 I-POST, PUNCH B” & VARIOUS’, W/8X32" SPADE €7 ASTM AS72 Gr. 50 J S N [
7 1 0033.00640 [HSS SX5 TUBE SPLICE @27’ LG W/ 1/4’ SHIMS AS00 Gr. B / AS72 Gr 50 INM.. ".-1 |.|._ m. m.
10 19 [ 0054.00050 [REG BB SHELF ANGLES e 4-1/2 ASTM A36 4 — -1l B
12 1 \ HSS S BBL\BEND TUBE SPL @ 27‘ LG & 42°ANGLE AS00 Gr. B / AS72 Gr 30 %_I_l PLAN ToP VIEV 54
13 8 ccm?comﬁ 6X8" NS, .x._wm Bs/O0 @ 6” LG AS00 Gr. B — \ _ 3
5 | 1 gm.\%ﬁ/ﬂ}. KICKBACK, W/ CAP & 21° ANGLE AS00 Gr. B 7 A36 FIXED TUBE SPLICE ASSY. I - o
% | 1 6X6” BB e 17'~t~1/2’, DRILL 3’ CC, W/ 19-6° RADIUS AS00 Gr. B 4SS 5" x 5" x 5/16" @ 2' 3" 1 Typ Centerline of &7/8" _ ,n._ g
17 1 6X6” BB TOP TRANS 4'-9 3/4’ LG W/EXP END, & 19'-6" RAD. AS00 Gr. B f 7. A .
B [ 1 6X6” BB BTM 4m>zm/m1mwgﬁ LG W/EXP END 8 19'-6” RAD. ASOD Gr. B Galvanized Tube . 5 in Top & Bottgfn of *| & NPy -
19 | 18 | 008003355 [3/8° X 7 1/2° BOLT, NUT, & 2 Fwe_ A307, AS63, FA36 P, Typ. _ ) HSS 6"x6"x3/16" Tybe (Typ.) ~g 5/8” (2X)
20 19 | 0080.04100 [1/2° x 1-1/2“ BOLT, NUT, & FW A307, AS63, F436 . 1 /om " "
21 | 16 | 008004120 [I/2" x 1-1/2” BOLT, NUT, 2 FV & LW A307, A563, F436 4" x 1/4" x 28" Fill Plate E==sh = ! 81/2'X 5" X 3/8" ANGLE
23 | 14 [0080.06340 [3/4” X 7-1/2° BOLT, NUT, 2 FV A325, A563, F436 (Front & Back) SPLICE TUBE - FIXED H__M__M w
24 | © [0080.06370 [3/4” X 8" CARR BOLT, NUT, FV & LW ) A307, AS563, F436
%6 [ 1 PARAPET WALL CONNECTIONS, LEF I-TRAILING I A572 Gr. 50, A6I5 Gr. 60, A709 A A ERONT VI ELAN VIEV
Confirm member size N W
_ _ _ _ _ _ (4) 3/4" _u:__< Threaded Bolts. 7 1/2" Long CITEM # 10
HARDWARE NOTES WPS 3009 ' ' ' ' (ASTM A325, TYPE 1) 2 Washers and a
ITEM # FUNCTION Heavy Hex Nut on each Bolt. Nut to be Finger
19 |[BOLT RAIL TO SHELF ANGLE CITEM #10) Typ, Tight and the First Thread below the nut to be
20 |BOLT SHELF ANGLE (ITEM # 10> TO POST 4" x 1/4" x 26" Fill Plate damaged A.O.B.E.. 4 Bolts at Each Splice. - i
21  [BOLT BLOCK-OUTS CITEM # 13) TO HEAVY POST CITEM # 4 ELEVATION Revise splice
23 |SPLICE TUBING CITEM #'S 7 & 12), & (4> PER PARAPET WALL CONNECTION CITEM ¥ 26) Bottom) FIXED SPLICE TUBE ELEVATION ._o
24 [BOLT RAIL (ITEMS #'S 17, & 18 TO BLOCK-OUTS (ITEM # 13) FIXED TUBE SPLICE ASSY. connection to
match Standard
.
o8t o-1/r TOP+BOTTOM G-1b
SHIM PLATES
WPS$3016 4-REQ. (2w/SLOTS \/m._ BACK VIEW
Typ) 17x7* HOR, SLOT | | | |
HOLE POSITION CHART TOP+BOTTOM V T T T |
PLAN VIEW POST LENGTH 6 _.|..|||||-|-|-|-I|_.I-|-|-|||||||||-|-|-|-|-|-|.|_-|||!T|
|m,|_| 5 T-11 5/8° Nenhyal » /_\I T T T T
4 6 11 1/8° ANGLE “B”, PER DOUBLE BEND SPLICE ” ” ” U.\
X Viexexan e sonoe g e (AS DETERMINED BY GROUND SLOPE DROP) 6” X 6" X 3/16" WELDE
5 =5 7/16" s END CAP, W/CUT CORNERS
_ 5. 10 p.lm m.\f
5 A_,|m n 1 1'-8
8 _ 2 _||n4mz
_ ._ui +/|_. 1-13/8"
8" I ! /@—w:m,IO_rm |_|_u_HV <Hm/>\
_ — _ _ (FOR GALV)
N o T o
VARIES, _ 5/8" HOLES _
(PER CHART) (4) REQ'D , s . 8
TO BE FIELD DRILLED _ _ _ HSS 5°x5'x5/16"~ | 5
h a7 1 * 7" *
__ _ CITEM # 12 3
e N e e ey 3
] .E 1l ‘A" - SEE PLAN FOR TURN BACK DISTANCE, SET ANGLE % " " VA
[ / g2 §3E263 ACCORDINGLY.(WW1-42°, Ww2-28°, WW3-25°, WW4-25%) » _
__ _ $3x3.7 >y SZrofs “B” — TURN DOWN ANGLE SET BY THE 9° MEASURMENT 7/8" 1/00 ] _A|4__
ih [ m S g wmmem AT THE END OF THE BOX BEAM.
__ _ \ 174" /238" wm m wwmmmm ) (TOP & BOTTOMD (TOP & BOTTOMD
|_ _| _ WPS 3040 g2 ¢ 22f:st Vermont Agency of Transportation
N | _ SRR HEETE RECEIVED —— MITER @ 21° - WW 1 @ 5/8” HANGIN
i N | SHEIHIE N: MITER @ 14° - WW 2
=6y [l ON: March 11, 2014 MITER @ 1355 Wi HOLE FOR GALV
N mlig, |25i-28 @ 12. 3 (TOP & BOTTOM)
__ 7 |/ 210 _ Xls?:z |55582t and Checked for MITER @ 12.5° - WW 4 CITEM # 155
1 c23 |saiEfE .
at | ol i CONFORMANCE
i _ M S w m g m m E° g m GENERAL NOTES: BY: Jennifer Fitch DATE: 03/19/2014
i | M EE 2:1325222 |3 g £||1) ALL RAILING IS TO BE FABRICATED AND ERECTED ACCORDING TO SECTION 525 OF . 508
_ _ _ =] B g E m 82 w 5 || THE STANDARD SPECIFICATIONS. ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) _ SHEET 2 OF
il | W o |sizeze |52 y 2) BOLTS SHALL BE TORQUED SNUG TIGHT (APPROXIMATELY 100 FT-LB). APPROVED BY: Calvamzed 2-Rail Bor Beam, m:aﬁ%a: \_gé@% Section
I _ 532 |55582:2)2  ||3) PROTRUSIONS CAUSED BY WELDING OR GALVANIZING ARE NOT PERMITTED ON THE EM13.-252, MDDLEBURY RS 0174 (8
_ _ _ mnu £,9 |s:2C:¢ :|8 & 3||ADJOINING SURFACES OF THE BOX BEAM RAILS, SPLICE TUBES AND FILL PLATES. TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR oo_._.onE_ BRIDGE NO : 13
1618 He 1TEM # 5 _ 208 |3zescEE 4) BOX BEAM TUBE AND STEEL POST MATERIALS, DIMENSION SIZES AND NOTES SHALL R[NO. | DATE| DESCRIPTION BY| R[NO.[ DATE| DESCRIPTION _[BY
i _ fyp |323ezzt RQ ||BE THE SAME AS THOSE OF THE BRIDGE RAIL, UNLESS OTHERWISE NOTED. E E
E _ HEHHHE H 5) ANY BENDING OF RAIL SHALL BE DONE AT THE FABRICATION PLANT. RADII GREATER T YTV R
T VETT SEH I N THAN 16' TO BE CURVED ON A TUBE BENDING MACHINE, RADII LESS THAN 16' TO BE "PIE ELDERLEE,INC. R "cHECKED | DL | 3107
FRONT SIDE WPS 3049 DSEDISES2SSS CUT" AND WELDED. CURVED RAILING WILL HAVE AN 18" LENGTH ON EACH END ¥ 0axs CORNERS, NBW YORK 14575 APPROVED | M.V,
- - _ SCALE | SCHEWATIC
STRAIGHT TO ACCOMADATE SPLICES. 2 Mol dlong@elderles com /. sheckSelderiee. com DRAWING NO.FF L MIDDLEBURY 2012



ksmith
Callout
Confirm member size

ksmith
Polygon

ksmith
Callout
Revise splice connection to match Standard G-1b

ksmith
Polygon

ksmith
rail

jfitch
CheckForConformanceFields


PLAN VIEW

i

M Hi " X 8" X 24" SPADE

CITEM # 1D

PLAN VIEW

[y "

M ﬂ\ " X 8" X 24" SPADE

CITEM # 2>

PLAN VIEW

7 8" _

! 4"

CITEM # 3D

M /.A /4" X 8" X 24" SPADE

PLAN VIEW

=

1/4" X 8" X 24" SPADE

3
Z
!
1.7
17
VARIES,
(PER CHART)
TO BE FIELD DRILLED

1
3

NG

(4 REQD)

ASTM A572 Gr. 50

HOLE POSITION CHART

POST

LENGTH

1-6

=5

| Wl rof =

1'-5 3/8

13/16”
1'-6 5/16*
13/16”

o

eﬂl_.

(FOR G

N
WPS 3040
N
> 14" 1/ 2-10
/
1-6"
CITEM # 45
FRONT SIDE

IN-@ 13 /16" HOLE

ALV)

\.<<m X 9 I BEAM

WPS 3040

174" 2

WPS 3040
1/4" 2

SHOP DRAWING REVIEW

[ REJECTED

DREVISE AND RESUBMIT

[J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[ FURNI;

ISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

VHB

Job Number: _ 57438
Reviewed By: __ KZS

Date: ___3/18/2014

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

| SHEET 3 0F 8

EM13-252, MIDDLEBURY RS 0174 (8

Galvanized 2-Rail Box Beam 95&3: Approach Section

TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR OO_._rmO._.O_nc. BRIDGE NO: 13

W: - 5.
8
Su " S0 1
] I g ] L -
I3 til I3 5 8 ;
; I MJ _ T M'ﬂ 8 _ 3 l_ _I _LW_
8" _ _ N\g 13/16 HOLE 8 _ _ _ N\g 13/16* HOLE J+w —
(FOR GALV> _ (FOR GALV> 1,
|_| ; ||_ B ol ||_ mM 1§ 1 / "
_ _ @13 /16" HOLE
N0 5/8" HOLES g 16" _ (FOR GALV)
I TYP. ] (F e} [} 3" -
i | i | i1 N—— |
131 | / 1 | / (2x)
" Ul (e 1
_ _ 35 _ S3x5.7 _ _ 35 _ S3x5.7 _ _ _ 1/4" 2 3/8"
ik i - Lo -+ - — 13— - WPS 3040
i i S | PRI | i |
IN POST #11 TYP. P
h | artem 2ay il i _ _ 44'£1/8 _
(e 1
_ _ _ _ _ _ _ _ WPS 3040 _
1 ] (o] ]
i | i | i | |
1 | 298" 14/ 238" I a2 |
i i il ! o4 | //wwxmq
_ _ _ WPS 3040 _ _ _ WPS 3040 ih I
| _/ 63"+1/8" | i _/ 63"+1/8" i _ _ _
i | i | i |
i WPS 3040 _ H WPS 3040 _ _ _ _
i | | i | | [ i
4"+1/8" ] f
i 74" |/ 211 ! _ _ 211 _ _ _._r— | \_r VAl 2o
_ _ _ — WPS 3040
_ _ _ _ _ _ FRONT SIDE
| _\ | 1 _\ l
i | R - |
4"+1/8" 1t 1 4"+1/8" (F e} I
! iH - L1 1/4" |/ 238" : il - 1| 14" |/ 238"
WPS 3040 RS 3040
FRONT (5/16 SIDE FRONT SIDE |5/16 Vermont Agency of Transportation
T |
| BILL OF MATERIALS ] BILL OF MATERIALS m m A ” m —< m U
ITEM #|aTY \ DESCRIPTION ASTM # ITEM #|aTY \ DESCRIPTION ASTM #
ON:
T 1 Ew|hl_. TYBE WALL PLATE = ° X 12 X 25° ASTM AS72 Gr. S0 T |1 u|_;_. TIBE WALL PLATE = I° X 12" X 25° ASTM AS72 Gr. 50 _/\_m.q.Oj H_.“_.. NO H_.k_.
2 |10 T RAV, #5/8" REBAR @ 24 ABIS, Gr. 60 2 |10 | RAV, #5757 REBAR € 24° AG1S, Gr. 60
3 2 57 X 5/16° TUBE W/ SLOTS @ 18° ASTM ASO00 Gr. B 3 2 m. "X 5/167 TUBE W/ SLOTS @ 187 ASTM AS00 Gr. B and Checked for
T 2 .\.z PL 172 X & X 177 W/ SLOTS ASTM AS6(ASTM A709 Gr. 36)CVN 7 2 PL 1/2° X 4 X 177 W/ SLOTS ASTM A36(ASTM A705 Gr. 36CVN
5 2 SHIY PL 172" X 4 X 17° (W/0 SLOTS ASTM ASG(ASTH A709 Gr. 36)CVN 5 2 PL 172" X & X 177 (w/0 SLOTS) ASTM A3B(ASTM A709 Gr. 36CVN A "O Z TO m_/\_ >ZA "m
' T
_ TYP. w TP,
. o) ves s \@ ves a0 BY: Jennifer Fitch DATE: 03/19/2014
wes ot/ /47T 1* x 4 SLOT, TOP V7 1* x 4 SLOT, TOP
& BOTTOM | PROTRUSIONS CAUSED BY WELDING OR & BOTTOM | PROTRUSIONS CAUSED BY WELDING OR
WELD ‘R— GALVANIZING ARE NOT PERMITTED ON THE GALVANIZING ARE NOT PERMITTED ON THE
SPLICE TUBES AND FILL PLATES SPLICE TUBES AND FILL PLATES
53] ]
oln o 4 Right Shown’ Right Shown’
2 Wing Wall 1 = “Left’ Wing Wall 1 = “Left’
- wing Wall 2 = “Right wing Wall 2 = “Right
" wing Wall 3 = “Right” wing Wall 3 = “Right”
RIGHT / APPROACH <_nm Woll 4 = "Lert’ W/ ANGLE <_nm Woll 4 = “Lert® W/ ANGLE
— g g —] |
] ol ] ol
1 TYP. _|qv = ||_ 2 _lav— 71 2
\...m REBAR (10X) 20 |_ _I Ty | __”A _ _| _ S~1 3 _H 4 _ _| _
hd B 72 ITEM #: 900.620
-, 4 4 #: 900.
1.0l 1.0l ]
g ] 2 2 APPROVED BY:
w._|m[_|+m| \ orqn | 2-1"
153 | REF. 153 | REF.
+ — ! ! |
i \e 1103 B e — 1103
+ L !
1 |- 1’ GALV. HOLE N@ L. 1 GALV. HOLE/] N@
2X (REP) 2X (REF>
(ITEM # 26) 1 (ITEM # 26> 1

R|NO. DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION BY]
E E
v v
< CERTIFIED DRAWN E.P. 3/7/14
.m_hb.m_mh.m..m. INC. % <FABRICATOR|| CHECKED | D.L. 3/10/14
OAKS CORNERS, NEW YORK 145718 APPROVED | M.V.
E—Mail: diong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315—789-6670 Fax-315-—-789-6618 DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
Callout
5/16

ksmith
Polygon

ksmith
Callout
5/16

ksmith
Polygon

ksmith
rail

jfitch
CheckForConformanceFields


FACE OF RAIL TO HAVE

MITER CUT FOR
9'—0" KICKBACKS
e 21°

ITEM #: 900.620

GEN CONTR: FR Lafayette - MIDDLEBURY, (2014)

Vermont Agency of Transportation

s i) - B g0t

RECEIVED

ON:

March 11, 2014

and Checked for

CONFORMANCE

BY: Jennifer Fitch DATE: 03/19/2014

SHOP DRAWING REVIEW

[0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR

CONFORMANCE TO

REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[J REJECTED

THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND

Xxmimm AND RESUBMIT [J FURNISH AS CORRECTED

CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
SAFE AND SATISFACTORY MANNER.

VHB

Job Number: _ 57438

Reviewed By: ___ KZS
___3/18/2014

Date:

| SHEET 4 oF 8

1/2* HOLES
. oln TOP+BOTTOM (TYPD [ray HSS 6x6x3/16"
] Il P TOP VIEW paRiRs 19'-6" CONVEX RADIUS x6x DRILL 87/8° HOLE
2 _| (TOP & BOTTOMD TOP+BOTTOM
s * 1 “ * “ * 4+
6T . -
3 -
o1 11-10" : FACE OF m>__.\
13-10"
15'-10"
18-10"
21-10"
2563 |
® 7/8" HOLES
., FRONT+BACK (TYP.
p [ 4 REQ'D
: _ i
T H
. 1-10"
i . SIDE VIEW
810 CITEM # 18) —_—
510"
710"
97/8* HOLE
1/2* HOLES FACE 0OF RAIL TO HAVE TOP+BOTTOM
TOP VIEW  TOP+BOTTOM (TYP.) & REQ'D
— el . 1_on
%2 7/8 HOLES —_— 6 REQ'D 19'-6" CONVEX RADIUS
mm..l = (TOP & BOTTOM> _|m:
3 | Y | * * * 4
9-10" | 6"
11-10"
13-10"
15-10"
18'-10" |
21'-10"
2493
@ 7/8" HOLES
FRONT+BACK (TYP.>
L REGD SIDE VIEW WWH1 HSS 616" Corod -
2
| _.w_.. = _t o'
J.. I |
110" — Detailer to confirm
e o CITEM # 17 lthey will coordinate
7-10" with guardrail
details beyond
17114 approach rail limits
3 A
14-115"
¢ 3
11113
3
“ g113
1 T 5-113"
- 105" |- 7
2 211 34" ———
o TOP VIEW 1ol |-
2 2
L rd A T4’
I ¢ ¢ ¢ 2 ¢ ]
I
$1 1/8" HOLE . E $1-1/8" HOLE
TOP+BOTTOM HSS 6x6x3/16 DRILL @1/2" HOLES TOP+BOTTO
2 REQ'D TOP+BOTTO > REQ'D
CITEM # 165 <<<<._ S REQ'D N ARENARGRAIL TO HAVE
FACE OF RAIL TO HAVE _qQv g .
192€* CONVEX RADIUS 130'-9 ONVEX RADIUS ﬁwﬁ_m
. . . PP DN ) _1
_ } ; 7 ¥ ! ) ' ) _ 8"
" " " " \ S G G L _|_|

THIS LENGTH PAY ITEM 621.30

APPROVED BY:

THIS LENGTH PAY ITEM 900.620 _
900.640

EM13-252, MIDDLEBURY RS 0174 (8
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR OO_._rmO._.O_nc. BRIDGE NO: 13

Galvanized 2-Rail Box Beam 95&3: Approach Section

R[NO. DATE DESCRIPTION BY| R [NO.[ DATE DESCRIPTION BY]
E E
v v
< CERTIFIED DRAWN E.P. 3/7/14
ELDERLEE,INC. <FABRICATOR|]| CHECKED | D.L. 3/10/14
< OAKS CORNERS, NEW YORK 14578 APPROVED [ M.v.
E—Mail: diong@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315—789-6670 Fax-315-—-789-6618 DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
Polygon

ksmith
Callout
Detailer to confirm they will coordinate with guardrail details beyond approach rail limits

ksmith
Polygon

ksmith
Callout
19'6"

ksmith
Callout
900.640

ksmith
Polygon

ksmith
rail

jfitch
CheckForConformanceFields


34' PAY LIMIT

HSS 6"x6"x3/16" Kickback
@ 8-10" w/End Cap

I I _

I — T T T T T T

POST 1 POST 2 POST 3 POST 4 POST S POST 6 POST 7 POST 8 POST 9 POST 10 POST 11 POST 12 POST 13 POST 14

(10Y HSS 6"x6"x3/16" Rail

................................................................. NED @ 17'11-1/2"

rrm 1 41 L

i 1L INES NN REN T 7 r . -

_‘u ! i _._ 0 _._ e ___ Ly Ly L iy L iy ._“‘4 _‘_.. i _l._ ._|_ m mll_ _||m_ m m m m m m

' B U L | | S
2 0 = 8 _ _ | S$3X5.7 POST @ 63" W/ SPAD _
4 SPACES @ 2-0"=8 3 @ 3-0" SPACING = 15'-0"
W6x9 POST @ 7'- 0" W/ SPADE
~ @2-0"SPACING 3X)=6-0" — 3x5.7 POST @ 7'- 0" W/ SPADE:

A
wll.llll. } _wq_w I H“H T I I I I I S

_ e \ @ © ] © O . +>>
1/2"—
SEE ADDITIONAL SHEETS FOR DETAILED VIEWS @ W $
GUARD RAIL TO BRIDGE RAIL TRANSITION
$ % % WW2 & WW3
wnlll.lu. | _w _w m_ I I I I I T I
| 2SS 4 "gr_ge

/mﬁmh‘%oﬂwﬂgwcm:o“\ of Transportation SHOP DRAWING REVIEW
_N m O m _< m U Conrormac 16 e Desen concst or e womk. s susecr 10 smen manons o | | ITEM 4k 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) _ SHEET 5 0F 8

REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.

[] REJECTED DCREVISE AND RESUBMIT [J FURNISH AS CORRECTED APPROVED BY: Qg:\ Q\\‘S\ng N|m Q\; mcﬁ mmgs Q\ggﬁgﬁg\; B@%ﬁc Q\ﬁ.}\ M&Q&,@OS\
O Z —/\_ mq.o j H H N O Hb- CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR EM13-252, MIDDLEBURY RS 0174 (8)
FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW .
1 OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND R|NO. DATE DESCRIPTION BY| R |[NO.| DATE DESCRIPTION BY]
m:a Oj@O—AQQ .—..oq. CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF E E
v

CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A v

A O Z ﬂ O m z > Z A ” m SAFE AND SATISFACTORY MANNER.
Job Number: _ 57438 CCERTIFIED DRAWN E.P. 3/7/14

ELDERLEF,INC.

.—H\. <FABRICATOR|| CHECKED D.L. 3/10/14
.m. .w Reviewed By: ___ KZS

BY: Jennifer Fitch DATE: 03/19/2014 Date: __3/18/2014 OAKS CORNERS, NEW YORK 14578 APPROVED | M.v.

E—Mail: dlong@clderlee.com / epeek@elderlee.com SCALE SCHEMATIC

Tel:315—-789—6670 Fazx: 3157896615 DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
rail

jfitch
CheckForConformanceFields


FACE OF RAIL TO HAVE

SHOP DRAWING REVIEW

1/72* HOLES
ZHl_um—N Ocl_u ﬂnm [0 REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
—] M: — |_|_H__U /\Hm/>\ ._._n__u+w_n_._.._._n_M MN._.N<D_HWWVH H_.“WD\ln.W\\ ODZ<WX WDUHCW HSS 6x6x3/16" DRILL ¢7/8° HOLE 9’=0” KICKBACKS CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
1, 7/78* HOLES - @ 14° REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
NM 1 —l A._|D_U wA wnn_:_uDZV |_|D_U+WD|_||_|DZ [ REJECTED Xmemm)zvxmwcw—S_d ] FURNISH AS CORRECTED
_ _ ._-\ ._r\ 1 /ﬁ 1 1 1 1 /b CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
|_ A A T T T T T T T / FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
6" I_ OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE
3" 9'-10" { \ ||_ 7" = INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND
11-10" FACE OF RAIL: CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
13-10" CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
15'-10" SAFE AND SATISFACTORY MANNER.
18-10" Job Number: _ 57438
21"10" o563 _ .—\..m.w Reviewed By: __ KZS
7 Date: ___ 3/18/2014
@ 7/8° HOLES Vermont Agency of Transportation
) FRONT+BACK ¢TYPD it sy e
o RECEIVED
" [ 1
m. _ 1
—1-10" — ON: _J
SIDE VIEW March 11, 2014
s-10° CITEM # 18) -
5-10" and Checked for
CONFORMANCE
pr/8 oot BY: Jennifer Fitch DATE: 03/19/2014
Ve woLes FACE OF RAIL TO HAVE TOP+BTTON
1. TOP VIEW  TOP+BOTTOM (TYP) / y,
&, =N 6 REQ'D 130°'-9” CONVEX RADIUS
7/8 HOLES
1~ |- (TOP & BOTTOMD _|m:
7
k ] Y * * * * T
9-10" _ &
11-10"
13-10" - -
510" _oo:ﬁ_:s member size
18-10" 1 .
prror | BILL OF MATERIALS, WW 2
[TEM #]QTY. | COMPENENT \ DESCRIPTION MATERIAL CASTM)
1 3 | 0013.57021 [3* 1-POST, PUNCH 8’ W/SPD @ 63' LG ASTM A572 Gr. 50
g 7/8' HOLES 2 3 | 0013.57025 |3 1-POST, PUNCH 87, & 20° W/SPD @ 63’ LG ASTM A572 Gr. 50
FRONT+BACK (TYP.) <<<<N 3 2 | 0013.57060 [3* 1-END PORT W/SPD @ 3-8° LG ASTM A572 Gr. 50
4 REQ'D SIDE VIEW HSS 6x6x3/16" 1 1ol — 4 | 4 | 0013.09001 |W6X9 POS1/ @ 7’ W/SPD & 5/8° HOLES ASTM_A572 Gr. 50
—_— 2 5 4 | 001357010 |3 1-POSY, PUNCH 8’ & 207, W/BX32’ SPADE 87’ ASTM A572 Gr. 50
¥ -1 % 7 1 | 003300640 |HSS 5X9/ TUBE SPLICE @27° LG W/ 1/4’ SHIMS AS00 Gr. B / A572 Gr 50
_ _ 10 | 19 | 0054.00050 |REG BY/ SHELF ANGLES @ 4-1/2° ASTM A3%
6 T | 2 |1 7 |HSS PX5 DBL BEND TUBE SPL @ 27 LG & 28°ANGLE AS00 Gr. B / A572 Gr 50
T : : 13 | 8 |0054.00543 [6X8°' TRANS, TJ)BE B/0 @ &° LG AS00 Gr. B
110" —] Detailer to confirm s | 1 6X6” BB @ 9'-0° KICKBACK, W/ CAP & 14° ANGLE AS00 Gr. B / A36
1 ; ; % |1 ¢” BB e 17'-11 1/2°, DRILL 3’ CC, W/ 130-9" RADIUS AS00 Gr. B
810 o CITEM # 17 ﬁ—._mv\ will coordinate 7 | 1 EX6” BB TOP TRANS @ 249 3/4’ LG W/EXP END, & 130'-9’ RAD. AS00 Gr. B
- i i B | 1 EX6” BB BTM TRANS @ 256 3/4’ LG W/EXP END & 130'-9’ RAD. AS00 Gr. B
with .@Cm_d—\m__ 19 | 18 | 008003355 [3/8° X 7 1/2" BOLT, NUT, & 2 FW A307, AS63, F436
details U®<ODQ 20 | 19 | 0080.04100 [1/2° x 1-1/2° BOLT, NUT, & FW A307, AS63, F436
. 21 | 16 | 008004120 [1/2" x 1-1/2" BOLT, NUT, 2 FW & LW A307, AS63, F436
s 44 1dn WUU_.OQO: rail limits 23| 14 | 0080,06340 [3/4” X 7-1/2" BOLT, NUT, 2 FW A325, AS63, F436
17115 D) 24 | 8 | 008006370 [3/4° X 8 CARR BOLT, NUT, FW & LW A307, A563, FA36
Krjm.. v 26 | 1 PARAPET WALL CONNECTIONS AS572 Gr. 50, AGLS Gr. 60, A709
11113 .
g-117" 3 HARDWARE NOTES
_ Sw. \ N A A A AN 5117 : - ITEM # FUNCTION
TOP VIEW 21— 15 [BOLT RAIL TO SHELF ANGLE CITEM #10)
AM.. ,_OMA_ — 20 BOLT SHELF ANGLE (ITEM # 10> TO POST
3" _|| 4 21 BOLT BLOCK-OUTS CITEM # 13> TO HEAVY POST CITEM # 4
! C _ 2 23 SPLICE TUBING C(ITEM #'S 7 & 12>, & (4> PER PARAPET WALL CONNECTION CITEM # 26>
" - - b A & & & &H &H ’ -
6" T _|mv/I & b S b — b b-—b— 24 |BOLT RAIL CITEMS #'S 17, & 18 7O BLOCK-OUTS CITEM # 13)
I
@1 1/87 HOLE LSS 6x643/16" #1-1/8" HOLE ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) _ SHEET 6 OF 8
X6x DRILL #1/2* HOLES g . g .
JOP+BOTTOM e enTTh TOP+BOTTOM APPROVED BY: Galvanized 2-Rail Box Beam Guardrail Approach Section
S RE®’D EM13-252, MIDDLEBURY RS 0174 (8)
FACE OF RALL 10 HAVE TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
130-9* CONVEX RADIUS CITEM # 16 - 3/16" mzo. DATE [ DESCRIPTION BY] R[NO.[ DATE | DESCRIPTION __|BY|
==t ¢ ¢ ¢ ¢ e — L v
_ ; , e _ & DRAWN E.P. 3/7/14
T ' ' L B S bv o _ CHECKED | D.L. 3/10/14
_ THIS LENGTH PAY ITEM 621.30 THIS LENGTH PAY ITEM 900.620 _ APPROVED | M.V. | .

E—Mail: dlong@clderlee.com / epeek@elderlee.com
Tel-315-789-6670 Faz:-315-789-6615

SCALE SCHEMATIC

DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
Callout
Detailer to confirm they will coordinate with guardrail details beyond approach rail limits

ksmith
Polygon

ksmith
Callout
confirm member size

ksmith
Polygon

ksmith
Callout
900.640

ksmith
Polygon

ksmith
rail

jfitch
CheckForConformanceFields


SHOP DRAWING REVIEW

172° HOLES MITER CUT FOR
] mH: - I_ID—HV <Hm< |_|D_U+WD|_|._|DZ A._|<—U.v Imm @XOXW}@: @\|D! _AHO_AWDHH_AW [J REVIEWED AS REQUIRED BY THE CONSTRUCTION CONTRACT DOCUMENTS AND APPROVED, BUT ONLY FOR
2 ” m mmD\U HH_NH_I_I Sﬂ\mi ID_lm . CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND
ol | 7/8" HOLES TOP+BOTTOM e 14 REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS.
N A._|D—U P wn._ulﬁDZV [ REJECTED Xxm<_mm>20wmmcw_<__.— [J FURNISH AS CORRECTED
I_l_ -_.\ ._—\ l /— l l l l //.— CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR
_ M M T I T T ! T T / FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW
63 ., .
g 910" | \ By INFORVIATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACIOR 1 RESPONSIBLE FOR CONFIRMING AND
11'-10" FACE OF RAIL: CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF
,_w.u,_o: CONSTRUCTION; COORDINATING HIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A
,_ ..rlv.|4 O: SAFE AND SATISFACTORY MANNER.
18-10" 21-10" Job Number: _ 57438
25 M: | .‘m\m Reviewed By: __ KZS
Date: ____3/18/2014
¢ 7/8" HOLES H
. FRONT+BACK (TYP.) Vermont Agency of Transportation
| _| 4 REQ'D
" | 1
= ] RECEIVED
—— 110" —
SIDE VIEW ON: _)_
SIE ViEW March 11, 2014
5-10"
o and Checked for
7/8° HOLE . .
1/2* HOLES ._._“__u+mw_n__m._.m._.o_”._u BY: Jennifer Fitch DATE: 03/19/2014
gl — TOP VIEW  TOP+BOTTOM (TYP)
z 7/8" HOLES 6 REQ'D .
mmzl — (TOP & BOTTOMD _|
1 4 il \ ! 1 1 ! vooN ]
¥« T T T T T T LA -
o face of rail to have
9-10" { ' .
o 16' radius
13-10" - -
15210 confirm member size
18-10" 1 1
. JBILL OF MATERIALS, WW 3 /
2110 [TEM #) GTY. | COMPENENT \ DESCRIPTION \ MATERIAL (ASTM)
1 3 [ 001357021 [3° 1-POST, PUNCH 8° W/SPD @ 63’ LG ASTM A572 Gr. 50
@ 7/8° HOLES H 3 [ 001357085 [3° 1-POST, PUNGH 87, & 20° W/SPD @ 63 LG ASTM AS572 Gr. 50
FRONT+BACK (TYP.) <<<<w 3 2 | 001357060 [3° I-END POSY/ W/SPD @ 3-8° LG 7 ASTM AS572 Gr. 50
4 REQ'D SIDE VIEW HSS 6x6x3/16" - 1ol = 4 | 4 | 0013.09001 [W6X9 POST & 7° W/SPD & 5/8° HILES 7 ASTM AS72 Gr. 50
—_— 2 5 4 | 0013.57010 |3’ I-POST, PUNCH 8’ & 20°, W/B8X32° SPADE @7’ 7 ASTM A572 Gr. 50
P =1 =4 7 1 | 0033.00640 [HSS S5X5 TUBE SPLICE @27° LG W/ 1/4 SHIMS 7 AS00 Gr. B / AS572 Gr 50
_ | 10 | 19 | 0054.00050 |REG BB SHELF ANGLES @ 4-1/2° 7 ASTM A36
8" T | ] 1 7 FsS L \BEND TUBE SPL @ 27° LG & 25°ANGLE 7 AS00 Gr. B / AS572 Gr 50
T 13 8 | 0054.00543 [6X8" TRANS. JJBE B/0 @ 6’ LG 7 AS00 Gr. B
—— 110" — : : 5 1 \_|6X6" JBB & 9’0’ KICKBACK, W/ CAP & 12 1/2° ANGLE |/ AS00 Gr. B / A36
310" CITEM # 17 Detailer to confirm % | 1 g7 BB e T7-11 1/2°, DRILL 3’ CC ¥ AS00 Gr. B
. ; ; 17 i 6X6’ BB TOP TRANS @ 24'-9 3/4° LG W/EXP END AS00 Gr. B
5-10 e ﬁij\ will coordinate 18 1 6X6’ BB BTM TRANS @ 25-6 3/4° LG W/EXP END AS00 Gr. B
- i i 19 | 18 | 008003355 [3/8° X 7 1/2° BOLT, NUT, & 2 FW A307, A563, F436
with .@Cm_d_.m__ 20 | 19 | 0080.04100 |[I/2° x 1-1/2° BOLT, NUT, & FW A307, A563, F436
details Umv\O:Q 21 | 16 | 008004120 [I/2” x 1-1/2” BOLT, NUT, 2 FW & LW A307, AS63, F436
o . L 23 | 14 | 0080.06340 [3/4° X 7-1/2° BOLT, NUT, @ FW A325, AS63, F436
171135 RM m.UU_.Om.Oj limits 24 | 8 | 0080.06370 [3/4° X 8° CARR BOLT, NUT, FW & LW A307, AS63, F436
Kr:m.. J 26 1 PARAPET WALL CONNECTIONS AS572 Gr. 50, AGIS Gr. 60, A709
:..:N: 3
8-117" 3 HARDWARE NOTES
- 10l S OUUUY 5-117" A - ITEM # FUNCTION
2 |_|_H__U /\Hm/\,\ —2"-11 3/ I._ 19 BOLT RAIL TO SHELF ANGLE <ITEM #10>
AM.. -] :UM.. — 20 BOLT SHELF ANGLE (ITEM # 10> TO POST
3 _|| 45 21 BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM # 4)
| r 2 23 SPLICE TUBING CITEM #'S 7 & 125, & (4> PER PARAPET WALL CONNECTION CITEM # 26)
6" T _ A_r\/ nvr \,__v \,_\r \,v \A_\r \,v \ﬁ-i 24 BOLT RAIL C(ITEMS #S 17, & 18 TO BLOCK-OUTS (ITEM # 13>
[
@1 1/8 HOLE 7 ralioh #1-1/8" HOLE ITEM #:900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) _ SHEET 7 OF 8
TOP+BOTTOM HSS 6x6x3/16" DRILL #1/2* HOLES Jjface of rail to have TOP+BOTTO ) ) _Ropa ) )
\ plier HOLES jlace o \ APPROVED BY: Galvanized 2-Rail Box Beam Guardrail Approach Section
2 REQ'D 16' radius 2 REQ'D
5 REQ‘D EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
CITEM # 1& - 3/16" R[NO. [ DATE DESCRIPTION BY| R [NO.[ DATE DESCRIPTION _ [BY]
E
_ — - . . . . . -—. _|m Y DRAWN E.P 3/7/14
A " " " A B B \w e _ T CHECKED | DL 31014
| THIS LENGTH PAY ITEM 621.30 THIS LENGTH PAY ITEM 900.620 | B APPROVED | M.V. | .
900.640 E—Mail: dlong@clderlee.com / epeek@elderlee.com SCALE SCHEMATIC
\ \ N - Tel:315—-789—6670 Fazx: 3157896615 DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
Callout
Detailer to confirm they will coordinate with guardrail details beyond approach limits

ksmith
Polygon

ksmith
Callout
confirm member size

ksmith
Polygon

ksmith
Polygon

ksmith
Callout
900.640

ksmith
Callout
face of rail to have 16' radius

ksmith
Callout
face of rail to have 16' radius

ksmith
rail

jfitch
CheckForConformanceFields


BILL OF MATERIALS

1/72* HOLES ITEM #|QTY DESCRIPTION ASTM #
MITER CUT FOR
— 8y TOP VIEW TOP+BOTTOM (TYP.) HSS 6x6x3/16" . 9/—0’ KICKBACKS
1, 7/8" HOLES _— 6 REQ'D DRILL #7/8" HOLE @ 14° T 11 DBL TUBE WALL PLATE - I X 12" x 25° ASTH A572 Gr. 50
%' _I (TOP & BOTTOM TOP+BOTTOM 2 |10 RAV, 95/8° REBAR @ 24 AGIS, Gr. 60
3 > 57 X 5° X 5/16’ TUBE W/ SLOTS @ 18° ASTM AS00 Gr. B
1 [ 7] 1 \ 1 I I 1 N 2 3 SHIM PL 172" X 4° X 17° W/ SLOTS ASTM A36(ASTM A709 Gr. 36)CVN
o . M v ! T T T T ﬂ \ E 2 SHIM PL 1/2° X 4 X 17° (W/0 SLOTS) ASTM A36(ASTM A709 Gr. 36)CVN
e 9-10" \ . PROTRUSIONS CAUSED BY WELDING DR Tv",
11-10" : FACE OF RAIL GALVANIZING ARE NOT PERMITTED ON 3 Wi§ ames 37
13-10" THE SPLICE TUBES AND FILL PLATES -ﬂ[x; SLaT, 1
15-10" & BOTTOY
18-10"
S 21'-10" <<<<h. ==
613 _ > 613 \ |_ AHM l
. — 1n
Right Shown” \ v I\ 62" NM m\u_.m
<<<< h. f _ Wing Wall 1 = “Left’ 2
—OOS Irm m:o m A.HV\U.V_ Wing Wall 2 = “_N_O_J.nn 8" “LEFT / TRAILING” __
8 7/8" HOLES Ving Vall 4 = LoFe" W/ 6 8 ANGLE 101"
., FRONT+BACK (TYP., - N k- 2
T 4 REQ'D _ mm_| —] 3
N =" S"TYP. T
6 ._|_ I_l_O_U D_U=P<<_. ._mWI—ﬂm<_m<< _ _| iy 4, \.w.vmwmqv I_ITM“ ——— __n 2 \...m REBAR €10X)
‘ ' " [J REVIEWED AS REQUIRED BY THE CONSTRUCTION nDZ,_‘wbnA__‘ DOCUMENTS AND APPROVED, BUT ONLY FOR VH:I_Il + .&. _ N =
1-10 w”:um <Hm/>\ CONFORMANCE TO THE DESIGN CONCEPT OF THE WORK, AND SUBJECT TO FURTHER LIMITATIONS AND 2 | 1
3-10" REQUIREMENTS CONTAINED IN THE CONSTRUCTION CONTRACT DOCUMENTS. - N N:
s . A H._umz # Hmv [J REJECTED Xxmsmm AND RESUBMIT [J FURNISH AS CORRECTED ._FOM:
m-A_O CORRECTIONS OR COMMENTS MADE ON THE SHOP DRAWINGS DURING THIS REVIEW DO NOT RELIEVE CONTRACTOR w.l»_: ™ |—|m|_|m| ._F ._:
7'-10" FROM COMPLIANCE WITH REQUIREMENTS OF THE DRAWINGS AND SPECIFICATIONS. THIS CHECK IS ONLY FOR REVIEW REE . —+ + 2
OF GENERAL CONFORMANCE WITH THE DESIGN CONCEPT OF THE PROJECT AND GENERAL COMPLIANCE WITH THE ° ,_ J@M \@.U ' A
INFORMATION GIVEN IN THE CONTRACT DOCUMENTS. THE CONTRACTOR IS RESPONSIBLE FOR: CONFIRMING AND ] _ _I._ |® E—
CORRELATING ALL QUANTITIES AND DIMENSIONS; SELECTING FABRICATION PROCESSES AND TECHNIQUES OF —+ s _ —T— —T——3
CONSTRUCTIG§® GO@RDINA(T|NGEHIS WORK WITH THAT OF ALL OTHER TRADES; AND PERFORMING HIS WORK IN A ._A.._OM: \@ — iR
, SAFE AND SAFITACTRIM AP o ) N r-—-—-—--{
TOP VIEW  TOP+BOTTAM <1¥P 7 [REfiBee\ 57408 z .
el . ) 1 GALV. HOLE "
& 2/8" HOLES E— 6 REQ'D ﬁ.\«m B |reime: " _Aww @ 2X REF) il
Date: an
ol |—/CTOP & BOTTOM p— = 1 CITEM # 26
ay 1 \ 1 1 1 i N
A A T T T T T T T T _|_|
9-10" | 6"
11-10"
13-10" - -
15210 |confirm member size
18-10" | :
110" BILL OF MATERIALS, WVW 4
’ ol ITEM #) QTY. | COMPENENT / DESCRIPTION MATERIAL (ASTM)
4 1 3 | 001357021 [3° I-POST, PUNCH B° W/SPD @ 63 LG ASTM AS572 Gr. 50
@ 7/8' HOLES 2 3 | 001357025 [3° I-POST, PUNCH 8°, & 20° W/SPD @ 63’ LG ASTM AS572 Gr. 50
FRONT+BACK (TYP. 3 2 [ 001357060 [3° I-END POST W/SPD @ 3-8° LG ASTM A572 Gr. 50
4 REQ'D SIDE VIEW <<<<L. HSS 6x6x3/16" 1o 7 4| 0013.09001 |W6X9 POST @ //° W/SPD & 5/8° HOLES ASTM _A572 Gr. 50
_— I_ 105 5 4 | 0013.57010 |3° I-POST, PUNCH 8° & 207, W/B8X32’ SPADE @7’ ASTM A572 Gr. 50
| re - -4 7 T | 0033.00640 |HSS S5X5 TUBE SPLICE €27° LG W/ 1/4’ SHIMS AS00 Gr. B /7 AS72 Gr S0
_ 1 10 | 19 | 0054.00050 LF ANGLES e 4-1/2° ASTM A36
6 T | 12 1 { SS SX5 ABL. BEND TUBE SPL @ 27° LG & 25°ANGLE AS00 Gr. B /7 AS72 Gr 50
] : - 13 8 | 0054.00563 [6X8’ TRANS( TUBE B/0 @ &’ LG AS00 Gr. B
10— Umﬁm__m_\ to OO_)_._"__\_)D Vermont Agency of Transportation ”M ” \ me. wmlm\uwwlcpw _MH\nmxw>%MH‘_u_w.\\m nmm 12 & >zMNm/.\).\).\./\} >mco>wnw_m.% \w>wm
C ’ . e = - 7 ~
5o 510t C(ITeM # 17 they will coordinate RECEIVED 7 | 1 6X6” BB TOP TRANS @ 24'-9 3/4’ LG W/EXP ENO & 6° & ANGLE A AS00 Gr. B
- : : ON: 18 1 6X6” BB BTM TRANS @ 25-6 3/4’ LG W/EXP END>& 6° 8 ANGLE AS00 Gr. B
with @Cm_d_\m:_ _/\_mw“muﬂmwmm_a w%pb 19 | 18 | 0080.03355 [3/8° X 7 1/2” BOLT, NUT, & 2 FW . + sy > A307, AS63, F436
i 20 | 19 | 0080,04100 |I/2° x 1-1/2° BOLT, NUT, & FW A307, AS63, F436
details _om<03Q CONFORMANCE 21 | 16 | 0080.04120 [1/2° x 1-1/2” BOLT, NUT, 2 FW & LW A307, AS63, F436
! . m_u_o_dm_o: limits BY: Jennifer Fitch DATE: 03/19/2014 23 | 14 [ 008006340 [3/4" X 7-1/2" BOLT, NUT, 2 FW A325, A563, F436
17115 24 | 8 | 008006370 [3/4° X 87 CARR BOLT, NUT, FW & LW A307, A563, F436
14113 26 1 PARAPET WALL CONNECTIONS W/ 6° 18’ ANGLE AS72 Gr. 50, A6IS Gr, 60, A709
11113
8-117" HARDWARE NOTES
- 10l | AN A A 511y - ITEM # FUNCTION
TOP VIEW 211 3/4 ] 19 |BOLT RAIL TO SHELF ANGLE (ITEM #10
AM__ - AOMA_ — 20 BOLT SHELF ANGLE (ITEM # 10> TO POST
3" _|| 44" 21 BOLT BLOCK-OUTS (ITEM # 13) TO HEAVY POST CITEM # 4)
! r 2 23 SPLICE TUBING CITEM #'S 7 & 125, & (4> PER PARAPET WALL CONNECTION CITEM # 26)
6" T _lmq Awr \,v \,v % \% \,v \mw-ﬂvl_ 24 BOLT RAIL C(ITEMS #S 17, & 18 TO BLOCK-OUTS (ITEM # 13>
[
@1 1/8” HOLE #1-1/8" HOLE ITEM #: 900.620 GEN CONTR: FR Lafayette - MIDDLEBURY, (2014) _ SHEET 8 OF 8
TOP+BOTTOM HSS 6x6x3/16" DRILL @1/2" HOLES TOP+BOTTO ] : “Dor g :
ToP 301 ddat s BOTTOM APPROVED BY: Galvanized 2-Rail Box Beam Guardrail Approach Section
S REQ'D EM13-252, MIDDLEBURY RS 0174 (8)
TOWN OF MIDDLEBURY, ADDISON COUNTY, VT RTE 125 (MAJOR COLLECTOR), BRIDGE NO : 13
CITEM # 165 3/16" R[NO. [ DATE DESCRIPTION BY[ R [NO.[ DATE DESCRIPTION _ [BY]
_ _ _ | | | I i
_ \ \ \ . _ 6" DRAWN E.P. 3/7/14
i f i i X 'Y Y < v T _ CHECKED | D.L. 3/10/14
| THIS LENGTH PAY ITEM 621.30 THIS LENGTH PAY ITEM 900.620 | B APPROVED | M.V. | .
900.640 E—Mail: dlong@®clderlee.com / epeek@elderlee.com SCALE SCHEMATIC
\ \ \ N Tel:315—-789—6670 Fazx: 3157896615 DRAWING NO.FR L - MIDDLEBURY 2014



ksmith
Callout
Detailer to confirm they will coordinate with guardrail details beyond approach limits

ksmith
Polygon

ksmith
Callout
confirm member size

ksmith
Polygon

ksmith
Polygon

ksmith
Callout
900.640

ksmith
Callout
confirm angle (typ.)

ksmith
Polygon

ksmith
Polygon

ksmith
Polygon

ksmith
Polygon

ksmith
Polygon

ksmith
Callout
5/16

ksmith
rail

jfitch
CheckForConformanceFields




